
Matchplay Resultatblatt

Spieler exact 
HCP

playing 
HCP

A:

B: 

Differenz playing HCP
Vorgabe = 3/4 von Differenz (siehe 
Vorgabenrechner)

Anlage
18 - Loch Panorama          9 - Loch Campus

HCP
Differenz

VORGABE
HCP

Differenz
VORGABE

1 1 16 12
2 2 17 13
3 2 18 14
4 3 19 14
5 4 20 15
6 5 21 16
7 5 22 17
8 6 23 17
9 7 24 18
10 8 25 19
11 8 26 20
12 9 27 20
13 10 28 21
14 11 29 22
15 11 30 23

VORGABENRECHNER
Vorgabe = 3/4 von playing HCP DifferenzLOCHGEWINN

LOCH A B
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17 Punkte
18 A B

TOTAL 
Back-9
TOTAL 
Front-9
TOTAL 

18 Loch
TOTAL PUNKTE

Datum 
........................................
Spieler A
........................................
Spieler B
........................................
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